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CODE : 34T ECON

2024
ECONOMICS

( For New Course Students)

Full Marks : 80
(Part-A =40 + Part-B = 40)
Pass Marks : 24

(For Old Course Students in lieu of Project Works))

Full Marks : 100
(Part-A = 40 + Part-B = 40 + Part-C = 20)
' Pass Marks : 30 :

Time : Three hours

Those who appeared till H.S. Final Exant.-2023
- hawve been treated as Old Course students

The figures in the margin indicate full marks
for the questions.

PART-A (F - 9™)
For New Course

Q. No. 1 carries 1 mark each (any four).........ccceeeerivinne 1x4 =

Q. No. 2 carries 2 marks each (any five) ..........ccoccoeveveaee 2x5 =10

Q. No. 3 carries 3 marks each (any 00 ..........c.ccccovvveveuve. 3x2= 6

Q. No. 4 carries 6 marks eacl (any two) .........c.cccccvvvvnnne. 6x2 =12

Q. No. 5 carries 8 marks each (anyf one) .........cooevcenieens: gxl= 8
Total = 40

PART-B (¥ - =i¢)

For New Course

Q. No. 6 carries 1 park each (Y four) ....oeeeweeeess 1x4= 4
Q. No. 7 carries 2 marks each (Any five) coo.ecwversseenceesice. 2x5 =10
Q. No. 8 carries 3 marks eacl (any FTU0) 5 o0 nseseshobagennernatis 3x2= 6
Q. No. 9 carries 6 marks each (Y fW00) .oocewcvrerseeesiec 6%x2 = 12
Q. No. 10 carries 8 marks eaclt (ANl 0NC) ..co...ccwrieerssececs 8x1= 8
: Total = 40
PART-C (5 - 5I*)

For Old Course (in lieu of Project Works)
Q. No. 11 carries 5 marks each (any JOUT) ovviiciriisinenne. 5x4 = 20
Total = 20

Contd.



PART-A [ $-—SItH

Answer any four of the following questions : 1x4=4

Tﬁmzﬁwfﬁmmmﬁ?ﬁmm

(i)
(1)
(ii)

(iv)

(v)

(vi)

Answer any five of the following quest1qns ;

What is intermediate good ?
Te] w= e 6 gl e
If MPS = 1, what is the value of MPC?
A MPS = 1 24, MPC 3 [« {519 292
Primary . Deficit = Fiscal Deficit — ; (Fill in the blank)
eeifi A% = e [ - | (T 12 779 1)
Which one of the following is not a quantitative credit control
measure of the central bank ?
©Fd (! (I (@5 ARMeRnE A gl Awf® T2we
(a) Bank rate
(A% 2§
(b) Open market operation
(AT AGE i
(c) Variable reserve ratio
SRS FAEFO 'ﬂwa G@‘?ﬁ*
(d) Direct control
ooy A
Write one merit of flexible exchange rate.
e R 2 by el
What is GDP deflator ?
GDP A@S 62
2x5=10

O 2rEiRa A Aiphid Sed Wl 8

()
(@)

(it

(iv)
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Differentiate between capital expenditure and revenue expenditure.

T4 5 O G z <y e 2N Tl

What are the components of high-power ed money ?
SomerTE T GAMATR [ 7
What are the transactions that ar

of balance of payments ?
WﬂﬁWﬂjﬁmﬂWﬁWWW 2 9

Define personal income and personal disposable income.

e included in the capital account

TSNS U s Gfegsie GaCAlon SIF K@ o1l

[2]

(u)~ As a result of increase in investment by Rs. 125 crores, national

income increases by 500 crores. C
multiplier. alculate the Value of the

gzm%lzs GG T 3 TS @ISR " 500 (I 5201 7% 23 | was T
|

(vy) Distinguish between stock and flow.
TGO I AET A ALy e |

(vii) Write any two implications of revenue deficit.

e Mo Rl 7o) der fa |

Answer any two of the following questions : 3x2=6

. ooTe Al e Repie 7h19 S fwal ¢

()  Write any three limitations of barter system.

= @’ R o6 SeRe S 3= |

() What is balance of payments deficit ? Write tw
of payments deficit. o causes of balance

AARCAiEE e =i /e wﬁw«ww@ TR Sl 394 |

(iij) Write a short note on :
Autonomous and Induced Investment."

53 (oIl ferdl
wog Wi Sees [

(iv)] What is a government budget? What are the components of
government budget ?

W@W%.WWGWW%?

Answer any two of the following : 6x2=12
()  Discuss the motives of demand for money ? What is liquidity trap ?

i S+1=6
TR BIRAR Sifeeimmz Scsal <1 | O T {2

‘(i) Briefly discuss the income method of calculating national income.

From the following data calculate Gross National Product at market
price (GNPyp). 4+2=6
T I Sld] 91 SE Aaioco] b SeEnal Tl | ©6E R AR &

799 Yo GO TeAMe 19! |
(in Rupees crore)

(SATREIS)
(i) Mixed income of self-employed 400
FEiEe FeE WEe o
34T ECON [3] Contd.‘



(in Rupees crore)

(i 5=1e)
(ii) Compensation of employees 500
oI Wl oz
(iii) Net factor income from abroad (~20)
o “[ @l Fet o™ _
(iv) Net Indirect Taxes (%5 == F9) 100
(v) Consumption of fixed capital 120
27 e CorSs]
(vi) Profits (5i19) 350
(vii) Rent (Arel) 100
(viii) Interest (G1) 150
(iii) Discuss the functions of commercial bank.
qffTe @ SIRET S 4 |
(iv)] Define aggregate demand and aggregate supply. Complete the
following table and determine the equilibrium level of income :
2+4=6
SR Bifewl e AMEE @i K@t o were Tl eifera s
Iy SIS e 4 ¢
Aggregate Consumption Savings Investment Aggregate
Supply : Demand °
AET A Tofrelsl AT Rt TAfeR bifewt
(AS) (C) (S) (1) (AD)
900 780 40
800 700 40
700 620 40
600 540 40
500 460 40
400 380 40
300 300 40
200 220 40
100 140 ‘ 40
5. Answer any one of the following : 8x1=8

o AR el GbiF ©ed w3l ¢

(i) -

What is fiscal policy ? Discuss the impact of changes in government
expenditure and changes in taxes on equilibrium income.
2+3+3=8

PSR TS 2 SEEARY SEF G710 SIFIN! A AT T 59 /R
S A 541 | :

34T ECON [4]

(i) Explain the determination of exch . :
rate system. ange rate under flexible exchange

ARSI [ 29 2o /iwm 2= Rdad 661 <=1
(iti) Write short notes on : i
o i _ 4+4=8
(a) Demonetisation
@R
(b)  Fiscal Responsibility and Budget Management Act, 2003

Wﬂﬁﬁ@ﬂ“ﬁﬂmmﬂﬁmwﬁa 2003
PART-B / 4-9%

6. Answer any four of the following questions : 1x4=4

T PR Riespleant 51519 e el ¢

() What is underdeveloped economy ?
S e 1R e

(@) In which year World Trade Organisation (WTO) was formed ?
ol aifdey A5l (WTO) & 57 oiom Cafee 2

(i) Write the full form of SHG.
SHG 3 579 % foral|

(iv) Write one objective of NITI Aayog.
NITI SIcAlsE G5 Sraep &l |

(v)  Golden revolution was related to —

(a) fish production

(b) horticulture production

(c) milk production

(d) agriculture production (Choose the correct option)

G [Kee wfte wifes —

(@) ST CAW O

(b) ST CAMT TID

(c) W% SeANMTT e

(d) TR CAWR O (o7 o5 R o)
(vi) Define privatisation. : .

Jfeorosseld kel forl|

7. Answer any five of the following questions : 2x5=10

wEE 2NEISE RCPlzar FishiT Ted Wl ¢

(i) Mention fwo non-institutional sources of rural credit.

oISy Ao 70 SRl BT BrE T4 |

S
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(i) Write two long-term goals of Five Year Plans of India.

Wﬂ%ﬁ%eﬁﬁﬂﬁzﬁﬁﬂﬁw%w

(iij) Mention two types of unemployment prevalent in the agriculture

sector of India.

Sieq $RASS A6FTS ﬁwﬁmw@mﬁw{

(v) What is the importance of green revolution in the Indian’

agriculture ?

(ii) Briefly ‘discuss the challenges India is facing in the context of
employment.
Sl (2Febe SReEE FHAA (RN SFEPIPTHR b SCEn= <l

(iii) What is economic reform ? Explain the need for economic reforms

: in India. 1+5=6
el FeEE 7 See SdEeT ACHRT Gl I 4|

(iv) Outline the common developmental successes and failures of India

oRed FRANYS EIoE 2T U 52 and Pakistan. S
(v) Write two positive effects of LPG policies in the Indian economy. SO S B Szl FEeTol S [KErero [ o=l
: I2EICIH _\'ﬂaﬁ wvo LPG ifod Z?f S Aol IGEIN 10. Answer any one of the following : ' : 8x1=8
(vi) Write two merits of globalisation. woid [Arpieal @bl e ved WAl 8
iFEeeE 7o Rl SeEd 4 () What do you understand by agriculture marketing system ?
(vij) Mention two objectives of disinvestment. DISCHSSI government measures to improve agriculture marketing
fFsE 75 o Srad | Systemnyipg e & ' 2+6=8
_ TG4 ! R [ 90 2 SRR ] TS FEIE
Answer any two of the following questions : 3x2=6 ;‘i@ W:{ﬂf{i w@]‘?ﬁ?ﬁ, R R R
\’f 1 E“IC.” @ Repica 7019 O ﬁm e . (i) Analyse the concept of sustainable development. Also discuss the
(i)  Write a note on Industrial Policy Resolution, 1956. strategies for sustainable development. A+4=-8
SR SIS 2w, 1956 9 Ra@ 9 G | e S RG] R 4| SIS T2 T (ST, Sl
(i) Briefly discuss any one serious environmental problem India is Al
J facing at present time. PART-C / 9-9I9
FoN TIT© O YA Al Rz Gb] ST s TR [REE (For Old Course Students in lieu of Project Works)
B SAIETBAl P 11. Answer any four of the following questions : 5x4=20

(iij) Discuss the composition of India’s foreign trade on the eve of

independence.

mmamg&ww%mmﬁwwmww}

(iv) Explain the role and importance of education in human capital

< Rl bifeh! e T fwdl ¢

(i) Write a critical note on public Eiebt.
pelal 4eF FEE S AT COil =i |

(i) Discuss the sources of demand for foreign currency.
e S DI SRR WG <1

formation.
9 A EAS DI SRR Siaieall (iii) Can GDP be gsed as an index of country’s welfare ? Justify your
i i Wer.
9. Answer any two of the following questions : 6x2=12 ans ¢
aE B RIRIRE! < e (T e TR <RI SR ARG 2 COR SeH AT
frlet ¥hIF ©ed Al 8 GDP e
i G ool |

(i) Write a comparative note for India, China and Pakistan on the basis ‘

of

(a) Demographic indicators

(b) = Human development indicators

(@) EEPIRS S I ,

(b) WWW%@W,%WW&%W
(Rl 2ge <Al | |

(iv) What is human capital ? Dis%:uss the sources of human capital.
i et 5 2 SR T 5199 SIPTIR SITETDAl 1 |
| Briefly wri'teﬁabout India} as a knowledge economy.
| (0) 2 ey oot O R DAL
‘ : : f national income in a si
. Discuss the circular flow o simple economy.
() D s ol bR 2R ST .

L ey

[6] N - | (7]
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